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CHILD DEVELOPMENT AND PEDAGOGY

1.

A child who uses both its hands to
hold a toy, gradually holds the toy
with its fingers. This can be best
explained by this developmental
principle.

(1) Interaction

(2) Development is predictable

(3) Individual differences

(4) Development proceeds from

general to specific
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Comparatively, emotions shift
easilyin ....cocoeeenne

(1) childhood

(2) infancy

(3) adolescence

(4) puberty
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3.

The modification of existing

knowledge structures as a result of

exposure to new information or

experiencesis ..........

(1) accommodation

(2) assimilation

(3) schema

(4) equilibration
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A child of class I obeys the orders of

the elders to avoid punishment. The

child is in this stage of the

Kohlberg's moral development.

(1) Stage I of premoral level

(2) Stage II of premoral level

(3) Stage III of conventional
morality _

(4) Stage IV of conventional
morality
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One of the following perspectives
proposes that all children have an
innate language acquisition device
which is responsible for language
acquisition called the ...........

(1) nativist perspective

(2) humanistic perspective

(3) behavioristic perspective

(4) socio-cultural perspective

808 S1%grod® wX gy EREEE o)
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One of the following speaks about
the social expecta;ltions for every
stage of development. -

(1) developmental tasks

(2) developmental hazards

(3) conflicts

(4) cognitive abilities
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Pick the correct statement from the

following.

(1) Physical health is important
than mental health.

(2) Mental health is important than
physical health.

(3) Physical and mental health are
interrelated and both are
important.

(4) Mental health is important for
intellectuals and physical health
1s important for labourers.
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The performance of a student is less

than his aptitude in Mathematics.

Herequires...........

(1) extra coaching

(2) training in memory techniques

(3) best teaching :

| (4) guidance |
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10.

‘Prediction’ is the characteristic of
the following psychological concept.
(1) Interest

(2) Attitude

(3) Creativity

(4) Aptitude
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(1) e

(2) 290
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. on certain issues. The appropriate

' DeosnoSiene  Xoowris. goso g¥se
SRR B B 5D

A classroom teacher would like to

know the opinion of class X students

method to know the opinionis........
(1) case study

(2) observation

(3) interview

(4) attitude
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11. Relation between intelligence and

creativityis.............
(1) positive
(2) negative

: |(3) no specific relation |

(4) positive in students having an
above average 1.Q.
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Learning outcome depends upon the

following.

(1) learner, learning material,
learning process and teacher

(2) learning material, learning
process and teacher

(3) learner, learning material and
teacher ‘

(4) learning process and teacher

s $TB0 (3ol TP Gl Btk
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13.

One of the following methods is more
suitable to teach the heterogenous
group of students for self-paced
learning.

(1) lecture method

(2) historical method

(3) programmed instruction

method

(4) loud reading method

3o T3S saie etipiee Rasdo Side DS
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14.
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A child is not able to learn a task
properly because of nonattainment
of age. The learning factor involved

(1) cognitive

(2) personal

(3) environmental

(4) social

BN SOUND TREED We W R
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"Law of exercise" is the contribution
of this school.

(1) Behaviorism

16.

(2) Constructivism
(3) Gestalt school
(4) Psychoanalysts

eogPgS DAB0" B+ SOETrRAbo Dgtned
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Three students of class IX stand in
1s¢, 2m and 3" positions

interchangeably in all their
achievement tests. All the time they
feel jealous of one another.

 In this case, the teacher needs to

concentrate on this domain for their
healthy development.

(1) conative

(2) affective

(3) psychbmotor

(4) cognitive
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17.

18.

19.

Involvement of the learner...........

20.

(1) is active in R—S conditioning

than in S-R conditioning

(2) is active in S-R conditioning
than in R—S conditioning

(3) is active in both S-R and R-S
conditionings

(4) is passive in both S-R and R-S
conditionings

PO PO

(1) S-R ductsot®sed R-S duetsnd®

!éo:i:'%gom &ceod.

(2) R-S Decisuod® 5ol S—R dwolsscs®
ST Som Goeoeh.
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(4) S-R, R-S dwelmres Bodedd&hmw
QTS Sor Goewed.

Essential component of learning is

|(1) experience |

(2) teaching

(3) objectives

(4) guidance

) “bcé‘ﬁi;’:ﬁ:ﬁ&n'éom’.o:;vo‘éc
(1) esdogde
(2) &% ‘

(3) egree

(4) SrEsssse
According to Vygotsky, children's
self-directed speech is called
(1) private speech

(2) egocentric speech

(3) culture-oriented speech
(4) social speech
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(3) 3ot 1O SRS &7

(4) ol R
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A teacher and two to four students
form a collaborative group and take
turns in leading dialogues on the
content of a text. It is called
(1) reciprocal teaching

(2) remedial teaching
(3) extended teaching

(4) cooperative learning
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A student of class V has learnt many
things when the class teacher
appreciated the behavior of his
classmates. The learning theory
involvedis................

(1) insight learning

B2) social learning |

(3) instrumental conditioning

(4) classical conditioning
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Change in the neurological system
of a person due to the process of

memory is known as...........

(1} engram

(2) genetical memory
(3) biogenetical memory

(4) linguistic memory

200 BEAH Se B3 d vt O

SN0 JT° WoLRs

(2) w@le 9 S

(3) Eu-wdoghn o

(4) PRy 0

A class VIII rural student learns the

periodic table in a similar fashion to

learning 'VIBGYOR/, the colours of
The technique

the rainbow.

involved in this learning is ...........

(1) mnemonics

(2) paired association

(3) 1deas association

(4) word association

SRRE BUNS BES B, w8 [rlsrs JQ
501 §a0ind tolbeis 'VIBGYOR!' &0
oD toowrs wddger booiras
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To carry out the provisions of the
RTE Act, 2009, 'funding' is the
responsibilityof .............

(1) the central government

" (2) the state government

(3) SSA and RMSA
(4) both

central and state

governments
POC LTPNY, Dgo, 2009 &% womois
a0 DOKORD SHHLND DO HEoN,
Do wPES B &0,
(1) o e
(2) oy g0
(3) ams. aid. O, modaks esh oo, 2. 2.
(4) o, TR B

As per the NCF-2005, assessment
atClassIand ITis..........

(1) no test in any form

(2) oral test

(3) a simple written or oral test

(4) based on the syllabus
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26.

One of the following indicates the
learner's higher cognitive ability.
(1) Retention

(2) Reasoning |

(3) Imitation

{4) Observation

200 TUE' LD @i Bl OB
a0 BP0,

(1) Despse

217.

28.
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(3) waosbes -
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One of the following is the reason for

learning disability.

(1) Possessing 1.Q. less than 70

(2) Inappropriate teaching

(3) Comitting errors in solving the
problems

(4) Defect in the perceptual process

300 0E° 1.5 i PEPRS Sirse

(1) Eegod 70 Soil HEH Sotize

(2) &3 w0 ot

(3) Sadei Fpousd Bisyee et

(4) POTES Pidoir Siso

Innovative way of problem solving

is mostly observed in this learning.
(1) S—-R conditioning

(2) R-S conditioning

(3) Insight learning

(4) Social learning

BRoTy POXLeE” WPGD BB T
egSioos® Vi O $0RBeSSEY

(1) S-RQwese

(2) R-S dwelse

(3) woubipneutysso
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One of the following actions of a
teacher indicates that he is a good
leader.

(1) doing things right

(2) doing the right things

30.

(8]

(3) setting the things right

(4) asking to do right things
EDRnG T WS WD GBID ol
TOLEIM BrON00

(1) Sioeiss WE™ Daknve

(2) PO Ssowmd DAk

() Swwdd 0¥ Bees
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A child comforts another child who
is crying by offering her toy. The
behavior of the child who tried to
comfort the other child represents ....

(1) social development

(2) social and emotional

development

(3) emotional development

(4) cognitive development

25 F0Q DY IO TP B9 oo

o OO LoD Aoidjeton
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METHODOLOGY
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LANGUAGE 1I - ENGLISH
61. Choose the correct word to fill in the 66. To make the past perfect tense, we
blank o the sentence. use this helping verb.
Copperis...... useful metal. M h
(2) an (2) had
(3) the (3) has
(4) any (4) having
62. I forget his name. 67. The opposite of 'equality'is............

In the above sentence the
underlined wordisa..........
1) noun

) conjunction
_(4) pronoun

63. Identify the correct sentence.

(1) How far your house it is from
here.
You i 2

(3) How far is it from here to your
house?

(4) Where you are going now.

64. Choose the correct word to fill in the
blank in the sentence.
Rama can speak .............
wonderful
€3) fastly
(4) severely

65. If you combine the following two

sentences,

a) Heis strong.

b) He can work hard.

You will get :

(1) He can work hard because he is
strong.

t2) He is strong when he can work
hard.

(3) Though he is strong, he can
work hard.

(4) Although he can work hard, he

is strong.

W-21/TET-111-EM/TM

(1) unequality
(2) disequality
(3) nonequality
(4) inequality

Identify the correctly spelt word.
(1) accomodation

(2) accommodation

(3) acommodation

(4) accommodetion

Choose the correct word to fill in the
blank in the sentence.

We went the market last
Sunday.

(1) up

(2) onto

(3) to

(4) off

Choose the correct phrase to fill in

the blank in the sentence.

Nho iy, " living here since 1999.
| (I) have been |

(2) has been

(3) are being

(4) have being

69.

70.

71. Identify the 'positive degree' of the
sentence.
Raju is taller than Amar.
(1) Amar is not tall as Raju.
| (2) Amar is not so tall as Raju.l
(3) Amar can be tall like Raju.
(4) Amar is as tall as Raju.

(14]
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72.

73.

74.

75.

W-21/TET-111-EM/TM

Identify the correct 'question tag' for
the statement.

Your brother is a teacher, ..
(1) ishe

(2) isn'tit?

(3) isnt he.

(4) isn't he?

What is the meaning of the word
underlined in the sentence?

The water glittered in the sunlight.
(2) shine

(3) shown

(4) shining

If you combine the following two

sentences,

a) She likes English.

b) She likes Mathematics.

You will get :

(1) She not only likes English, but
also Mathematics.

(2) She likes not only English, but
also Mathematics.

(3) Not only English but also she
likes Mathematics.

(4) She likes English and not only
Mathematics.

The 'reported’ form of the sentence,

The teacher said to the pupils,

"Listen.", 18 .....ccoueens

(1) The teacher said the pupils to
listen.

(2) The teacher told the pupils
listen.

(3) The teacher asked the pupils to
listen.

(4) The teacher suggested the
pupils to listen.

76.

7.

78.

79.

(15]
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Identify the question to get the

answer.

Yes. We go there every year.

(1) Did you been to Ooty?

(2) Have been to Ooty ever?

(3) Did you go to Ooty never?
(4) Have you ever been to Ooty?

In a letter to an officer, the
'subscription'is ...........

(1) Yours sincerely,

(2) yours faithfully.

(3) Yours faithfully,

(4) Yours' faithfully,

Identify the correct sentence that
contains all the words in the box.

sun, clouds, makes, the, the, us, for

(1) The sun makes us for the clouds.
(2) The sun makes the clouds for us.
(3) The clouds makes the sun for us.
(4) The sun clouds makes for us.

Read the four parts of a sentence.
They are marked A, B, C and D.

A) because it was interesting
B) interested in the book

C) that he could not put it down
D) hewasso

The correct sequence of the parts s :
[(1) D), B),0),A) |

(2) B),C),A),D)

(3) A),C),B),D)

(4) D), C), A), B)

P.T.O.
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80 to 84 : Read the following passage and answer the questions given below.

John Ruskin says, "All books are divisible into two classes, the books of the

hour and the books of all time."

Similarly sbme books are read by 95% of people for some years and then
they are virtually forgotten. Take for example, 'detective’ novels. We may not
have heard about the authors of detective novels like Erle Stanley Gardner.
Although the taste of readers is changing, 5% of people continue to read 'classics’.

Mark Twain said, "A classic is a book which people praise but don't read.”

Books are good companions and good counsellors. They are like good friends.
As a good friend walks in when others walk out, books also walk in to console

you. They offer the best solace you think of.

80. According to Ruskin, books can be | 82. According to this passage, .........
divided into ....... (1) amajority of people read classics
(2) every reader reads classics
(3) more than half of the readers
read classics
(4) asmall pen;éntage of people read

(1) some categories
(2) three categories

(3) four categories

| (4) two categories Tassion
81. According to this passage, ........... 83. The writer of this passage compares
(1) some books are read and| books to ............

(2) classics_.
(3) time
(4) detectives

(2) very few books are read but
- forgotten

<(3) most of the books are read but ) ]
84. The writer of this passage says that

books can make us ...............
(4) no book is read and forgotten (1) feel'sad

| (2) feel betterl
(3) feel dejected
(4) feel serious

forgotten
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newuser

newuser

newuser


85.

86.

87.
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Language games can consolidate
the pupils' skills of ......

(1) listening and speaking only

(2) speaking and reading only

(3) reading and writing only

(4) listening, speaking, reading and

writing

We teach a supplementary reader
for it
(1) learning pronunciation

(2) learning syntax

(3) extensive reading

(4) intensive reading

Read the question in the box given
below :

Choose the correct word to fill in
the blank.

Ravi goes to school ......... bicycle.
a) by b) on
¢) with d) over

The above test item tests the ..........
(1) lexical item

(2) knowledge

(3) skill

(4) speech

88.

(17]
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At schools, teachers conduct unit
tests, terminal exams and annual
exams toensure .............

(1) continuous and comprehensive

evaluation

(2) summative evaluation |

89.

(3) diagnostic evaluation

(4) formation evaluation

In microteaching, the sequence of

eventsis:

(1) Teacher trainees improve their
spoken English.

(2) They prepare a microlesson
plan, teach, get the feedback,
replan and reteach.

(3) They teach, get the feedback,
prepare a microlesson and
reteach.

(4) They prepare a microlesson plan

and improve their teaching.

One of the basic elements of spoken
English is fluency. Fluency is the
ability of a speaker ........

(1) to pause at the right place while

speaking

(2) to speak fast
(3) to speak as fast as he can

(4) to speak as slowly as he can

P.T.O.
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91.

93.
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101 7
(1) 150 (2) 150

9 3
(3) 200 (4) 100

(18]
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MATHEMATICS
There are three sectors in a pie- [ 94, Ina AABC,if|A =90° and |B = 2(C,
diagram. If the angles of two sectors then [C iS .ooooeor '
are 80° and 140° then the angle of
the third Sector is .............. ¥ AABCE*|A =90°, [B =2C o
LY TS TPOEPR) Wi Ve |C 2655 wereaenee
Des2o e, 800 wsBoxs 140° o Sevod (1) 15° @) 30°
Ttk BFE0L0 NS, HArED LW Shes0 (3) 450 @ 90°
(1) 220° (2) 60° b
(3) 140° (4) 80° 95. The present age of a father is 42
- — years and of his son is 12 years. The
A cricket ball's cost is Rs. 36 and the ratio of age of the father to his son 2
cost of a cricket bat is 12% times that YEArs ag0 Was .ooooocvveen
of the cost of the cricket ball. The
Do, HRIPEE (5450 Bt WS 42
cost of the cricket bat (in rupees)is .. | oS, 12 3056 c‘e';; .
o B 1300 g5 6. 36. RS ergS 50§35 SR (350 TO HAXRO P cevvsees
.:o@qﬁﬁ%ﬁ:l?éﬁugw}?ﬁa@%ﬁ@ﬁ (1) 7:2 2 4:1
55 (6. 069 3)2:7 ) 1:4
1Y) 450 (2) 350
(3) 550 (4) 650 96. If 2 m. 60 cm cloth is required for
one shirt, then the cloth required for
1 1 s
The value of ( £ -3_2] (12 -Zz.] U shicisisEy. ...

(1) 14 m. 80 cms

(2) 18 m. 20 cms

(8) 15m. 20 cms

(4) 16 m. 80 cms

2.5 S5 2 8. 60 0.50. 105 eistiEo s
T Tom,en ST 106 e

(1) 14 . 80 Be.o.

(2) 18 Do. 20 o.0.

(3) 15 0. 20 Do.2o.
(4) 16 2 80 e.o0.
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97. The value of J1.44 X 6.25 1S coeveeeeen

1.44 x 6.25 GI0%), DB weevenees
(1) 2
(2) 1
(3) 4
(4) 3
98, If x, y, z are any three rational
numbers and if x>y,¥>2, then
x >z . This property is known as .....

(1) Law of Tricotomy

(2) Transitive Property |

(3) Associative Property
(4) Closure Property

X, Y, 2 €0 Jew) DO esEEEACH oD,

X>Y,¥Y>Z Qoo x>2 Stoet. T4

(1) e Dged S50
| (2) oo §oo|

(3) SR HEe

(4) oo Ee

A school has 560 students. If the
number of girls is 143 % of the
number of boys, then the number of

girls in the sehool is .o

o5 Suwed® 560 Hod Dordies Sotl.
08 Bse Sopg westsopg 147%
woash & Pt ¥ $oRg

(1) 320

(2) 80

(3) 70

(4) 490

W-21/TET-111-EM/TM
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100. If a clock shows 8 o'clock, then the
angle between the two handsis .......

KEQERTEE! 8 Noweibpts Tats L%
5505, E5er0

(1) 240°

(3) 145°

(4) 125°

101. To represent equal numerical
values, same type of diagrams are

(1) bar diagrams
(2) pie diagrams
(3) sectors
(4) pictographs
BEFH BoPg VeSS BIPIOBILE 3
s By GSdIrRoto DB
(1) 325 Jgres
(2) PoTEtripes
(3) Do -
(4) S Jgree

102. There are some bags, where 21 bags
are kept in each room. If the bags
are kept in 16's and 20's per room,
4 bags are left out. The total number
of bags that are there in allis ........

oS5, 106" 21 Tiayd T FFY w0
Sog). e pProw L8N ros® 16 o5 20

s

u@wéo&:wﬂﬁo‘bﬁ‘@@@*&49_§_:@“

P.T.O.


newuser

newuser

newuser

newuser

newuser


1S

g
7

9 4
103. The value of 17 X g]
x [§
7
117
595
117
595
595
117

i P
]

5]5&5

1)

(2)

(3)

104. The ratio between Rs. 2 and 60 paise
is
&, 2 530050 60 o0 B3y AP e
(1) 1:30
2)30:1
(3) 10:3

4) 3:10

...............

105. If one angle is the average of the
other two angles and the difference
between the greatest and least

angles is 60° then the formed

BOOKLET Q

106. The difference between the largest
6 digit number and the smallest

5 digit numberis ....

esto 030 23D 1E Jopgts, & w3

203D Lify omgs Ko T
(1) 999998
(2) 888888
(3) 988888
(4) 989999

107. The summer vacation was declared
for all the schools from April 24*. If
the vacation is for 49 days, then the

schools reopen on
(1) June 11*
" (2) June 12"
(3) June 10"
(4) June 13™

ey FTTees Dpoid 24 5 BOed U
Do EEdoms, dopes 49 Fwds
SETo0s PHUTTEHRON B s

(1) &5, 11

(2) &5, 12

(3) &=, 10

(4) &~5,13

...............

triangleis called ............... 108. If two-thirds, half and one-seventh
(;) s isoscleles ttiiangle : of a number is added to itself, the
(2) an equilateral triangle : :

(3) a right angled triangle result is 37. Then the numberis ........
(4) aright angled isosceles triangle w5 idopy G0N, 2/3 % grTes, 5reans Swdaie
o5 Bpessst® 18 Sieaiios DoNDS Totd V7% givios & Sopg 5005 o0 Desid
?wa:&cﬂmii o mg._@:ggsfsw:uq&; 37 WC0D, & BOPg srarereses

B 60° o & @goei (1) 14> @ 16—

@) &5 5500 Trro@ibee i i

£2) wsSRorodibno 182 1

& S 4) 16—

/[»8) % vowsies Ggbwo @ 97 ) 97

Wi) L5 S0 wows'e (Gbwo
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109. The valicol a vetitle depreciates

e
every year by 5%.

value of the vehicle is Rs. 50,000,

If the present

then its value after two years (in

rupees) is ...

- ~L
fok 5

(3) 52,500

(2) 47,500

(4) 54,875

110. The center and end points of an arc
of a circle are collinear. The arc is
calledas aueiaiionens
(1) diameter
(2) chord
(3) major arc

| (4) semicircle

BOOKLET @

112. The cost of 4 dozen papers is Rs. 24.
The cost of 1 score of papers (in
TUpees) i .oovvevennees
Teoln G TRGHC W 5F. 24 ©oasd
o 35,8 ORe 20 (5:‘.065)

(1) 40
(2) 20

(3) 10
(4) 42

113. The perimeter of a semicircle

is 36 Its diameter

cms.

(in centimeters)is ............

W% 230.50. QD T

TGS (?ac.ﬁ:.e:ﬁs)
w5 D TGN 50 Dotivhe, &3
:@o@‘@:ﬁﬁi‘;@’mwéaméﬁﬁ i 7
(1) g0 (2) 14
2) =
.}1 O XGpota (3) 22
(4) LB (4) 35
111 If f’—:2 and -Cb-=3, then the value 11:1. The value of 0.2727........... +
(l
a+b U.7873...-.--- is
of T LU B
02727 .. civines +0.7373....... Q02
b _ 9 weboso Su= 3 wonsd L I (1) 1.001
a b+
5 1:01
3 o = o
@ 7 2 3 (3) 1.0202.........
o 3 (4) 1.0101.
(3) 3 (4) )
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115.

The author of 'Pancha Siddhantika'

(1) Aryabhatta

(2) Varahamihira

(3) Bhaskaracharya
(4) Brahmagupta
50w DEeOE (HFSY
(1) st

(2) ;50'::.12.; totlwl)

116.

(3) T ooy

(4) [esiamyiion

The terminal competency to be

achieved in Geometry at the

primary stage is ......cc....

(1) to understand the types of
triangles

(2) to draw a circle when radius is
given

(3) to draw an angle equal to the
given angle

(4) to express the concept of a circle
and technical words associated
with it

Y oo’ @RS FHoBBON

O TGO i

(1) ©eow e oomms Ssshon

117. Students are asked to find the

various characteristics of a rectangle
by using a geometric box. The
teaching method adopted is the ......
(1) playway method

(2) problem solving method

(3) Heuristic method |

118.

(2) ?}g.u a2y pyos Actase
(3) oy Seamoosts siones Seseo
fAotaoe
(4) SBEFESD, PRd Sorobonh 0TS
SR G Bpdetor -
W-21/TET-111-EM/TM [22]

(4) project method

re35 S0N0re DTS ERGIPNOD Bsastise
GooY), DL LT SRR LTt

¢ ,,,:.:;sz
® o

@ :.’:"...n‘"aéb&iﬂ&ciéa‘;}a
(3) eidgirs B8O
(4) (F85 950

In the lesson plan presently being
prepared in schools, the aspect to be
indicated after content analysisis ....

(1) teaching learning activities

(2) competencies to be achieved

(3) teaching learning material

(4) evaluation

S50 SuTood® Barts Dot ENR
sy SEod’ Vgl TS BTND MDY
$OS et

(1) .S*wr,gwﬁ HHogose

| (2) oo Sk oé%.o%m

(4) b;.“a‘bcaac
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119. "Student verifies the outcome when

two fractions are multiplied". This
specification belongs to the objective

(1) understanding

W-21/TET-111-EM/TM

(2) knowledge

(3) application

(4) skill

“Toks Dy Kertolm B HOTEY
TG BOLFWR 98 T oS Dol
Syaities

(2) s

(3) oG

(4) BDeagas

(23]
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120. To evaluate a text book as per the

Hunter's score card, the content is

to be assessed for ............ points.

08, 38,6 58 esprliom w8 ST
BePRoNie DARTRE Py JNSTRTY
Foaowth Do Dy

(1) 50

(2) 250

(3) 100

(4) 300

P.T.O.
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121. Examine the following :
A) The tip of the tongue — sweet

taste

B) The back of the tongue — sour
taste

C) The edges of the tongue — bitter
taste

D) The middle of the tongue —salty
taste

Identify the correct pairs:

BOGS 2 HoGoRD0.

A) TPess U - B

B) ool WS - DD L

0) esSecmoed - W A

D) eosqerie - & =

(1) A), C)

(2) B),D)

3) B),C)
(4) A),D)

122. The first-aid kit in a classroom
contains tartaric acid, iodine,
antiseptic lotion and potassium
permanganate. The item/items you
use to give first-aid to the victim of
scorpion bite is/are
(1) iodine
(2) potassium permanganate or

tartaric acid
(3) antiseptic lotion
(4) antiseptic lotion and iodine
(o) ms‘ &3 B D3Try S8, e
e,ds;:“' Dot 650 Loddi»
ﬁ"e.l‘o.\c&)c Somelisd ému. Beokidondd
SE D35, mw‘aé o) é«:&ﬁﬁo‘é{.‘. é*
ASEFACID.
(1) oBés
(2) erigioo aw&offi)u 3 ercp0s
ERUAS
{35 'l" O.E%

(4) L}::JLL: &5 wobos s

............

r AT 111 DA

123. The number of players and extra
players present in a kabaddi team

respectively are ............

£5 Sood mend™, e i) 00cin SRy
€56 ?50%:'3 ST

(1) 5,2

(2) 6,4

(4) 8,2

124. Examples for pollination by water
and pollination by wind respectively
B ...
(1) hydrilla, maize
(2) wheat, vallisneria
(3) drosera, paddy
(4) eichornia, pistia

D T B0k ™ mror wOR SO
HoRon,03 Gt WHSST
(1) piles, o5&

(2) ﬁ‘mm,ma?q&w

(3) @, 0

(4) DT?EOER, BAiF

125. Skeleton of a man : bones : : skeleton
ofleaf: ..........
(1) chlorophyll

(3) xylem

(4) stomata

LD ebortin | Daooken ; ; es¥odday
el BT 1 e
(1) Bpirdoi
(3) rtoSmEoRe
(4) HHloree

see
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126. A farmer collected '‘sword suckers'
to grow in his field. The crop is .......
(1) potato
(2) turmeric
(3) plantain
(4) sweet potato
wy T, B9 Bpeed® LY Bow BowEdd
Besons EdoTrs. B0 e Bow
(1) woreriocss y
(2) S

(4) Qonts oS o

127. The skin disease caused due to

vitamin deficiency is ............
(2) Eczema

(3) Acne

(4) Measles

oo B0 weld STR DG TR

(2) o3 *
(3) Dosdvoes !

(4) e+

128. A farmer has a field with sand soil
in coastal region. Suggest a suitable

crop which can be grown in his field.
(1) Turmeric

(2) Sugarcane

(3) Chillies

(4) Casuarina

L N TRB0%0 S U | Drosed® gisekde 5U0
ﬁw.u:o &ob. es3 :bc».uaéi‘ DoToLss WO
oLas P IoNIRS.
(1) ¥
(2) Duss
(3) ats
W-21/TET-111-EM/TM
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129. A person wishes to stay in a forest
and study the life of wild animals.
The type of the house he has to live
s e
(1) a tent house
(2) a mud house

[ (3) astilt house |
(4) a hut

aaﬁé‘ QBT [TateRre i) otod
o BrO 5, T LR DERN

qua%o:;va

(1) recete e -

(2) wgges N

(3) Swohge?

(4) (& ~

130. The abundant presence of these
plants decreases the nitrogen

percentage in the air.
(1) leguminous plants
(2) plantains

(3) water hyacinth
(4) coconut
dam%mwawmam:smc
oo Blvdsel

(1) Brogods wofes |
(2) et

(3) rOEEY,

(4) S‘a:aa

131. The gas that destroys chlorophyll in

plant leavesis ............

2, eood™ BBIROTE) TE2 39
__"/’__-

e

(1) CO,

(2) SO,

(3) H.

P.T.O.
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132. Pick up the wrong statement with

reference to water.
(1) It is not an element.

(2) It is a good conductor of
electricity.

(3) 2H,+0,— 2H,0.
(4) It has a constant ratio of
hydrogen and oxygen.

533 Sorefon BT S87, P
(1) eb Horelnm T8
| (2) ebnood s |
(3) 2H,+0, — 2H,0.
(4) B2E S, edmte AT oo
&owoeh

133. Examine the following statements.
i) Need not clean toilet daily.
ii) White washing of a house to be
taken up periodically.
iii) Store the garbage in the dustbin
only forever.
iv) Water and food vessels must be
covered with lids.
Identify the correct responses from
the following options.
208 TiSgieR $080000
A) 30E%e Sotols S0 Wt
Gl=Y
ii). 250 HR06 g0l BisbeE D SirD
i) D8, DT JPBPEr DGwxED
::EJ‘S:SO:U'&
Giv) Dt Sbain eERvTTe PBOP
Sordes 2ePd
OGN EEPEsTin Hhgoted.
(1) 1), iii) (2) 1),1v)
(3) ii), iv) (4) iii), iv)

W-21/TET-111-EM/TM
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134. Latitudes and longitudes on a globe
ATE S s
(1) latitudes are horizontal
imaginary lines and longitudes
are vertical imaginary lines
(2) latitudes are vertical imaginary
lines and longitudes are
horizontal imaginary lines
(3) both latitudes and longitudes
are horizontal imaginary lines
(4) both latitudes and longitudes

are vertical imaginary lines

ﬁ:m?_ﬁe WO, Byrornons

(1) egpoames eomiobnlsd &art oo
500 Beroisooes Duso Adibedss
&aitipen

(2) egreinmes  JLT Raowdy
Sastipes Sodosn Sproiaas wlem
Rosoeodad Sesstipas

(3) wgros, Sgreihoons Colir wgem
Acoeadssd &eistigren

(4) egois, SyroBvoes TR DS

AoToeodss &eastlpes
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135. 'Gramasabha' means............

(1) it is a meeting in which the
sarpanch and all ward members

participate

(2) it is a meeting headed by the

sarpanch in which all the people '

of a village attend

W-21/TET-111-EM/TM

(3) it is a meeting of sarpanch and
the upasarpanch with village
secretary and other employees of
the grama panchayat

(4) it is a meetiné headed by the
sarpanch in which all ward
members, youth associations

and caste heads attend

s B OSTE

(1) Ieacithod Wik TrEgdEeestr

(2) [Psodtyon SR

(3) rEsBtle
Sarse

(4) [asdthoh S, T SEoeolid,
- o (= o

Coone Henras Hobain Xvoatres
s

PER

136.

137.
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'Shravanbelagola', and 'Mahabali-
puram', the historical places are
located respectively in these states.
(1) Andhra Pradesh, Tamil Nadu
(2) Kerala, Karnataka

(3) Tamil Nadu, Karnataka

(4) Karnataka, Tamil Nadu
(DR, i:»:.'ﬁaaa?.egco’ ko OB
@553“9.\: HESITE B2 mgaﬁs Yon)

(1) esos (555, HRoTTrEs

(2) o, Somes

(3) BRTTES, Yo%

(4) Nopess, BT

The area of Indiais ............

(1) 3.28 million sq. kms

(2) 32.8 million sq. kms

' (3) 3.28 billion sq. kms

(4) 32.8 billion sq. kms

PPEEe BNy, TR

(1) 3.28 238055 v.8ax.

[27]

(2). 32.8 Sodaed v.325.
(3) 3.28 LHBAHE v.a0F.

(4) 32.8 DOALS 8.3,

P.T.O.
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138.

Read the following and identify the

correct pair :

A) Kuchipudi — Tamil Nadu

B) Bhangra - Pﬁnjab

C) Bharatanatyam-Andhra Pradesh
300 T3 BED PO &) Wk IHBoVCE.
A) EPOSE - BITTES

B) zroiw - Sed

C) BT - esolp Bo%
(1) B),C)
(2) A),C)
(3) A), B)

(4) B) only

139.
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Eastern and western ghats of
peninsular plateau meet here.

(1) Seshachala hills

(2) Nallamala mountains

(3) Nilgiri mountains

(4) Papi hills

é‘sssgcs SELEPRS3 Ko BIRE, 0 Basoes
Totir 5%t Seodon

(1) Zxveo Setes

(2) $goe Shelen

(3) Dond SPoken

(4) o Sotion

140.
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The hot deserts are situated between
these latitudes on either side of the

equator.

Easotio JEee, SNl Tok gUNHT
Tt FFPOTO0 Wby 509

(1) 15° — 30°

141.

(2) 30°—45°
(3) 5°-15°
(4) 0°-5°

Health, revenue, fire services and
education belong to this category.
(1) All are ordinary services.

(2) All are emergency services.

(3) Health and fire services are
emergency services, revenue
and education services are
ordinary services.

(4) Health and fire services are
ordinary services; revenue and

services

education are

emergency services.
, L q ‘-( 2 A Loy 4
Ea.y)sC, 63‘.0‘3, (‘.‘h&aﬁ"is FOSIsLlalovbbipeTal
e R v 'q e
A0 Tt BELSD e
(1

(2) ety edEsd Sows

B 2 e
@u.a (3‘5',5‘08? Perelas]

= T e N T
(3) 25 weldios GMLTus Do SO
-5 . . 5.

nhes; TR o0aie JoEg BN

Jrter Saes -

(28]

(4) 25 So0alss Clyndss S0 e

&
e Sz
SwBS; L o7y Sodaodas WP e
5B D 6

)
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142. The popular names of Gopal
Krishna Gokhale and Dadabhai
Naoroji respectively are .........

(1) Iron man, Punjab Kesari

(2) Grand old man of India; Iron
man

(3) Punjab Kesari; Socrates of

Maharashtra

(4) Socrates of Maharashtra; Grand

old man of India

Fire i f'ed Haboks o FO R

Ko (SEeRe Stg WHST

(1) &5, mz;. Sewd &0

(2) b Lfumgs eh qelaln; i, iR
(3) somEE8, ooy FEID

(4) warTR 35, ok L8 wr &9

QoGO

W-21/TET-111-EM/TM

[29]
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143. This is not an organ of the United
Nations Organization.
(1) The Secretariat
(2) The General Assembly
(3) The World Health Organization
(4) The International Court of
Justice
50 PETEg Wb G0k, WOl0STE
(1) dSosredice -
(2) SO 7
(3) @i ety seip &
(4) eoBdUD TELF0
144. Examine the following and identify
the mismatch :
A) Mud house — Rajastan
B) Igloo — Lake
C) Sky scraper — Big city
BoD TR 90900l
A) sod e - RIS
B) gitr - 8563
C) wirod woliise o - DEIO
BT &3 22550 IQovod
(1) C) only

(2) B) only

(3) A) only
(4) C)and A)

P.T.O.
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145.

The product of science is indicated
by ...
(1) the scientific method of inquiry

(2) accumulated and systematized

body of knowledge

(3) the scientific attitude

(4) gathering of data

DTOTY D Te oM I Doisestixtood
(1) wyas0 508° widgses

146.
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£2) @Srodanends  Bodakin

Soedsd o

Esongo

(3) Thonpe0

(4) Soros Sxtes

Most important initial step towards
achievement of an aim 1855 it

(1) skill

(2) ability

(3) objective

(4) goal

50 (aim) 3630 6B KeopRss S5
FFs0.

(1) SDesge

(2) Fago «

(3) ey

(4) Ko ™

147. The method that helps in developing

manipulative skills among the

studentsis...........

(1) lecture method

(2) historical'method

(3) laboratory method

(4) lecture cum demonstration
method

bavgqa:uﬁs I @@‘é&@rﬁsw

SoroRoNER ko BT 550

(1) CITGS ST

(2) oy Bee

(3) BRrRTe B

(4) ST BT 550

. The arrangements that shows the

creatures living on the land is ........

(1) aquarium

(2) terrarium

(3) herbarium
(4) vivarium

HPUoY 550055 B el
(1) esSBaoe "

(2) Bgoawe

[30]

(3) wsatie +
(4) Jdoctize
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149. The plan meant for evaluating the | 150. The evaluation that is used for

learning outcomes of the students in grading purpose is chllod.... i

the classroom is called ............ (1) formative evaluation

(1) unit plan z -
P (2) summative evaluation

(2) subject plan ] -
(3) diagnostic evaluation

(3) lesson plan

(4) grading evaluation
(4) year plan
suKsoe b (grading purpose)
SoNe KRS Jmgte e $0TY BBcia RUTE

. BarEroEs DALEEIS ESErAcn HED
Sorerelie Dokrrad B Beres 52 3

(1) corded Bemds (1) doveFss Wreese
(2) T (@Berds (2) oot RaroRetse
(3) ety ooy (3) &% doRes BareRges0

«(4) TGS TS (4) Bacseroresio

W-21/TET-111-EM/TM [31] P.T.O.
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